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V -  Ig Rg��
Rm =��

        Ig 

V -  50 × 0.002��
450 =��

��������0. 002��������

V  =  1  volt 

    Ig Rg��
Rs =��

      I -  Ig 

0.002 × 500��
0.1 =��

�����I - 0. 002��������
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VB  =  I ( R + r ) = 0.6 × 14 = 8.4  Volt  
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    c��
λλλλ =��

      νννν 

    c h��
λλλλ =��

      νννν h 

    �����h��
λλλλ =��

      νννν h / c 

    �����h��
λλλλ =��

      PL��

R1 = 6 ΩΩΩΩ R3 =15 ΩΩΩΩ 

R2�� R4��

          6      15 × 30 

Rt =       +                   +  1 = 14 ΩΩΩΩ 

          2       15 + 30 
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p���#��N = 420     A  = 3×10

-3
   B = 0.5 ��

θθθθ = 2 ππππ f t       90 = 2 × 180 × f × 1/200          f = 50 Hz 

 emf = N A B 2 ππππ f = 420 ×  3 × 10
-3

 × 0.5 × 2 × 22/7 × 50 = 198  Volt  
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θθθθ = 2 ππππ f t       30 = 2 × 180 × 50 × t 

t  = 1/ 600   s 
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2�����
Pw =          =                   =  491.52  Watt 
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Vs 

Ns 

               96 - 48 

Slope =                  = 0.96  

              100 – 50  


